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Ne 1 21 11 22 11 23 11 24 11 25 11 26 11 27 11 28 11 29 11 30 12 1 12 2 12 3 12 4
(usv )
[T 2 2 — 1 2 2 — 1 1 2 2 1 2 — 18
1 11:00 11:39 — 11:38 11:25 10:52 — 10:41 11:12 11:15 11:35 11:50 10:20 — 123:27
pisv 0.2 0.2 — 0.09 0.2 0.2 — 0.09 0.09 0.2 02 0.08 02 — 0.1
sV 2 2 — 1 1 — — 2 2 1 — 1 — — 12
2 9:55 9:55 — 9:55 9:55 — — 9:55 9:55 9:55 — 9:55 — — 79:20
sV 0.2 0.2 — 01 0.1 — — 0.2 0.2 01 — 01 — — 0.2
SV 1 1 — 1 1 1 — 1 2 2 1 1 2 — 14
3 11:35 11:18 — 11:37 11:30 3:33 — 11:36 10:43 11:40 11:41 11:37 11:37 — 118:27
pisv 0.09 0.09 — 0.09 0.09 0.3 — 0.09 0.2 02 0.09 0.09 02 — 0.1 3 15
LSy 1 1 — 2 1 — — 2 1 1 2 2 1 — 14
4 10:30 10:30 — 10:30 10:30 — — 10:30 10:30 10:30 10:30 10:30 10:30 — 105:00
by 0.1 0.1 — 0.2 0.1 — — 0.2 0.1 0.1 0.2 0.2 0.1 — 0.1
Sy 1 1 — 1 1 2 — 1 1 1 1 1 — — 11
5 10:40 10:37 — 10:50 10:50 10:47 — 10:35 10:35 10:35 10:45 10:43 — — 106:57 1 25
sy 0.09 0.09 — 0.09 0.09 0.2 — 0.09 0.09 0.09 0.09 0.09 — — 0.1
SV 0 0 — 2 0 — — 0 1 1 1 1 — — 6
6 9:00 9:00 — 9:00 9:30 — — 9:00 9:00 9:00 9:00 9:00 — — 81:30
sy 0.00 0.00 — 0.2 0.00 — — 0.00 0.1 0.1 0.1 0.1 — — 0.07
[T 1 1 — 1 2 — — 1 0 0 1 1 — — 8
7 7:00 7:00 — 7:00 7:00 — — 7:00 7:00 7:00 7:00 7:00 — — 63:00 15
isv 0.1 0.1 — 0.1 0.3 — — 0.1 0.00 0.00 01 01 — — 0.1
sV 1 — 1 — — 1 1 1 0 — — 5
8 6:50 6:50 — 6:50 6:50 — — 6:50 6:50 6:50 6:50 6:30 — — 61:10
sV 01 0.00 — 01 0.00 — — 01 0.00 01 01 0.00 — — 0.08
SV — 1 — 1 1 — — 1 1 1 1 2 — — 9
9 — 7:30 — 7:30 7:30 — — 8:00 8:.00 8:.00 8:.00 8:.00 — — 62:30 13
pisv — 0.1 — 0.1 0.1 — — 0.1 0.1 01 01 03 — — 0.1
sV 1 1 — 1 1 — — 1 1 1 1 1 — — 9
10 8:00 8:30 — 8:30 9:00 — — 8:30 9:00 9:00 8:45 8:40 — — 77:55
by 0.1 0.1 — 0.1 0.1 — — 0.1 0.1 0.1 0.1 0.1 — — 0.1
SV 2 1 — 1 0 — — 0 0 1 1 1 — — 7
11 7:20 7:50 — 8:20 7:20 — — 7:40 8:20 8:20 8:20 5:50 — — 69:20
sV 0.3 0.1 — 0.1 0.00 — — 0.00 0.00 0.1 0.1 0.2 — — 0.1
Sy 1 1 — 1 1 — — 1 1 1 1 1 — — 9
12 9:30 10:00 — 10:00 9:30 — — 5:30 5:30 5:30 6:00 9:30 — — 71:00
sy 0.1 0.1 — 0.1 0.1 — — 0.2 0.2 0.2 0.2 0.1 — — 0.1
Sy 1 1 — 1 1 — — 1 1 1 1 2 — — 10
13 8:15 8:15 — 8:15 8:15 — — 8:15 8:15 8:15 8:15 8:15 — — 74:15
sy 0.1 0.1 — 0.1 0.1 — — 0.1 0.1 0.1 0.1 0.2 — — 0.1 5

0.1
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